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3. Binomial square? x* + 25x + 25

NO

4. Difference of 2 squares? 4x*(+)49

NO— 1

FACTOR: Difference of 2 squares, solve #7

7. x2-289=0 8. 121x?y? - 144
(x+ D=0 (H Xy +\2)(H)(\f— l2>
X=-13,17

12. Factor: -5/3y + 25/36 = -y?
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FACTOR: Binomial squares, solve # 5
5. x2-16x+64=0 6. 9y? + 60yz + 10022

(x-3)(¢-8)=O (%\{ +(09(’$\‘+l()2)
(-2 -0 (%\p\()z)
X=3
9. Factor 10. Factor & Solve
25X - xy? 5x2-5x=0
x(25-y?) 5¢(x-1)=0)

(5 (BH) B0 x-1:0

11. Factor by Groupingf x¢ — 3x3{+ x2-3
(x25)+1(x*)
(x2+0(x*-%)

13. Solve the equation: x4-81= 2
(x2+)(x%=9)=0
(x2+9) (x+3)(x-3)=0
. X244=0  xx3: o X-3=0
T }2--9 x=-3 X=3
14. Determine the value of k for which the
expression is a perfect square trinomial.

X2 + kx + 81
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